308 ( )=
19
E+n  x 10" E+3 x 1000
(kg/ ) (ka/ )

1 16E+0| 6.1E+1 63.0 63.0
2
3
4
5
6
7 1.3E+3 1,320.0 1,320.0
8 2.2E+2| 6.3E+3 6,550.0 6,550.0
9
10 1.3E+0 13 13
11 4.9E+1 49.0 18E+0| 14E+3 1,399.5 14485
12 4.9E+3 4,854.9 4,854.9
13 6.3E+3[ 1.8E+4 24,300.0 24,300.0
14 74E+1] 13E+3 1,385.8 1,385.8
15 4.8E+1 48.0 3.0E+2 300.0 348.0
16 8.7E+1 87.0 87.0
17
18 2.4E+0 24 2.4
19 4.0E-1 0.4 3.9E+3 3,900.0 3,900.4
20 8.2E+0] 5.3E+1 61.2 61.2
21 13E+2 130.0 130.0
22
23 6.2E+2 620.0 6.1E+3 6,123.2 6,743.2
24 55E+0| 1.0E-1 5.6 10E-1| 2.4E+3 2,353.6 2,359.2
25 11E+2| 25E+3 2,633.0 2,633.0
26
27 6.0E+1 60.0 10E+2| 25E+4 25,575.3 25,635.3
28 2.1E+2 209.0 9.0E-1] 29E+3 2,916.1 3,125.1
29
30 1.1E+0f 5.5E+0 6.6 6.6
31
32
33
34 10E-1 0.1 0.1
35 3.6E+2 360.0 3.0E+3 3,000.0 3,360.0
36
37
38 2.7E+2 267.0 267.0
39
40 6.2E+2 620.0 620.0
41
42
43
44 1.3E+3 1,300.0 1,300.0
45
46 5.0E-1 0.5 0.5
47 4.9E+1 49.0 49.0

6.6E+1] 1.4E+3 14414 6.8E+3] 8.2E+4 89,110.1 90,551.5
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